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<Z7A O>sinx = 0.2588
<Z7A @>tany = 0.3640

2 AOl(sin) | AFQ!(cos)| EHAI E (tan)
14° 0.2419 0.9703 0.2493
15° 0.2588 0.9659 0.2679
16° 0.2756 0.9613 0.2867
17° 0.2924 0.9563 0.3057
18° 0.3090 0.9511 0.3249
19° 0.3256 0.9455 0.3443
20° 0.3420 0.9397 0.3640
21° 0.3584 0.9336 0.3839
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50 0.7660 | 0.6428 | 1.1918
D 6.428m @ 7.660m ® 8.391m
@ 11.918m (@)14.088m

BC = 10sin50° = 10 x 0.7660 = 7.660( m)
AB = 10cos50° = 10 x 0.6428 = 6.428( m)
kA LHR9] 20]= 7.660 + 6.428 = 14.088(m) ©]t}.




24. thg 27 2 4748 ABC o4 AC 9] Zol?

©3vi @4V @s5vT @67

ﬁ:ﬁxsin60°=4xsin60°=4xg:2x/§
_ 1
BH=4cos60°:4x§:2

-2=10
(2«/') + 102

= 12+ 100 = V112 =47

L TH-
A_




25. o5 28I o] 100m Bl F A c
A A, BOIA shgel] HYE +5 C
E_-Q—qu:]-i 7]'E_7]. 7—11-600,45093\
th. o] o, FE2] &0l h E?

@ 100m @ 50V3m
® 100V3m @ 100(V3-1)m
@50(3—\/3)m
A C oA ¥ AB o &l =49 ¥-& H 2 o1, +59] %0l
h =t 3t
A ZyAr 7S ACH oA £ACH = 30° o] B2
tan30°—A= AH = Cthan3O°—Lh
CH V3
T, 227+ BCH oA /BCH = 45° ©]
tan45°—£ BH=CHxtan45° = h
CH
ol wj, AB = A0 + BH = —~ + 1= 100
V3
100V3
" h= 50(3 = V3)m
1+v3 ( )

i




UH, AABD 4 ‘5&‘01%‘?

B \: ”D C
® 8+3cm? @ 11V3cm? "10em-~
@ 17 V3cm? @ 21 V3cm?

@25 \/§ch
AABC 94 3/ABC = 90° 0|22
/ABC = /BAD = /CAD = 30°
~AD = 10( cm)
e
cos 30° = =C = ﬁ
AD 2
L AC=10x ? = 5v3(cm)
1 .
w2t AABD = 5 BD x AC
= % 10x5v3
=25 \/§(cm2) o]t}




27. o8 183 22 gABCD 9] Holx?

A
6\cm
T--gem-- 7
D 6v3cm? @ 8+v3cm? ® 12vV3cm?
@14\/§cm2 ® 16 V3 cm?
AC —
cos 30° = ?C = \/75 , AC = 4v3cm

1
AABC = 5 x8x 4/35in 30° = 8 V3(cm?)

AACD = % X 6 x 4V3sin 30° = 6 V3(cm?)
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